LESSON 6 Quiz

Responder’s Rebids

e

1. What is your rebid after the following auction: 1v -2
2v -7
(a) (b) (c) (d) (e)
a A52 a QJ7 a AK2 a A5 A 52
v 962 v?2 v?2 v 54 v K62
¢+ Q5 ¢+ KQJ6 ¢ 73 + KQ85 ¢+ A108
® AJ765 *» KJ1052 » K1097652 % J10852 % KQJ76
2. What is your rebid after the following auction: 1¢ -14
2NT -?
(a) (b) (c) (d) (e)
a KJ76 a Q752 a KJ1093 a AJ9873 A AK52
v K62 v?2 v KQ62 v 63 v AJ8
¢ 632 + Q10862 ¢ 76 ¢ K73 * KJ
% 983 % A108 ® 82 ® K2 10985
3. What is your rebid after the following auction: 1¢ -1v
28 -7
(a) (b) (c) (d) (e)
A 742 a KJ52 A 42 A5 A3
v A962 v A862 v A7432 v AKQ652 v Q7642
¢ 965 ¢ 65 ¢+ QM4 + Q62 ¢ A6
% A85 % K98 ®» KJ5 % Q54 % KQJ109
4. What is your rebid after the following auction: 1v -1a
INT -?
(a) (b) (c) (d) (e)
A K1076 a QJ8752 A KJ1093 A AJO8 A K98652
v K62 v?2 v 42 v 62 v?2
+ Q76 + Q108 ¢ 97 + KJ54 ¢ A876
% 986 % J73 % AK42 % Q65 * K8

NZB (Inc) © Copyright Reserved 2015

Beginners’ Lesson 06: Updated 19" Feb, 2020



LESSON 6 Quiz ANSWERS

Responder’s Rebids

e

1. What is your rebid after the following auction: 1v - 24
2v -?
(a) (b) (c) (d) (e)
a A52 a QJ7 A AK2 a A5 A 52
v 962 v?2 v?2 v 54 v K62
¢+ Q5 ¢+ KQJ6 ¢ 73 + KQ85 ¢+ A108
® AJ765 *» KJ1052 *» K1097652 % J10852 % KQJ76
3v 3NT Pass 2NT 4v
2. What is your rebid after the following auction: 1¢ -14a
2NT -?
(a) (b) (c) (d) (e)
a KJ76 a Q752 a KJ1093 a AJ9873 A AK52
v K62 v?2 v KQ62 v 63 v AJ8
¢ 632 + Q10862 ¢ 76 ¢ K73 * KJ
* 983 * A108 ® 82 ® K2 * 10985
3NT 5¢ 3v 44 6NT
3. What is your rebid after the following auction: 1¢ -1v
286 -7
(a) (b) (c) (d) (e)
A 742 A KJ52 A 42 A5 a3
v A962 v A862 v A7432 v AKQ652 v Q7642
¢ 965 ¢ 65 ¢+ QJ4 + Q62 ¢+ A6
® A85 % K98 ® KJ5 % Q54 % KQJ109
_____ 2¢ 2NT 3¢ 4v L
4. What is your rebid after the following auction: 1v -1a
INT -?
(a) (b) (c) (d) (e)
A K1076 a QJ8752 A KJ1093 A AJO8 A K98652
v K62 v?2 v 42 v 62 v?2
+ Q76 + Q108 ¢ 97 + KJ54 ¢ A876
* 986 ® J73 % AK42 % Q65 *» K8
Pass 24 3% 3NT 44
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